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CBT Practice test model answers

Indirect tax (ITX)

Practice assessment 2
Section 1

Task 1.1

[image: image2.png](a) Which of the following statements is TRUE? Choose ONE answer.

‘The business wil have to register for VAT at some point in the nextyear.

‘The business wil not be eligible to register for VAT at any point in the next year

‘The business should wait until itis advised by HURC to register for VAT.

Your business colleague tells you that he needs to seek advice from HHRC on a VAT matter and asks you
"how he should proceed.

(b) What would be your response? Complete the sentences.

You shouldfirst [consult the HRC wet

Ifyou cannotfind what you need, then[telephone the HURC helpiine. g
fyou still cannot resolve your query you should then - [write to HMRC. v

.





Task 1.2

[image: image3.png]() Which of the following statements is TRUE? Choose ONE answer.

‘The business may issue a single VAT invoice, showing the VAT applicable to standard-rated and
zZero-rated senvices as a single amount.

‘The business may issue a single VAT invoice, showing the VAT applicable to standard-rated and
zero-rated senices s separate amounts.

The business mustissue a VAT invoice for the standard-ated senices, and a non-VAT invoice for the.
zero-rated senvices.

‘The business mustissue separate VAT invoices for standard-rated and zero-rated services.

AUK business is issuing a sales credit note for taxable supplies to an EU customer which is registered
for VAT.

(b) What will be the effect on VAT for the UK business? Choose ONE answer.

Output tax will decrease and inputtax will stay the same.

Inputtax willincrease and output tax willstay the same.

Both outputtax and input tax will increase.

‘Both output tax and input tax willstay the same.





Task 1.2, continued

[image: image4.png](c) In which VAT return must the business include the output tax? Choose ONE answer.

Quarter end 30 September because the tax point is 24 September

Quarter end 30 September because the tax point is 25 September

Quarter end 31 December because the tax pointis 01 October

Quarter end 31 December because the tax point s 03 October





Task 1.3
[image: image5.png](a) Which of the following schemes is being used? Choose ONE answer.

Flatrate scheme.

Annual accounting scheme

Cash accounting scheme.

AVAT-registered business has received a‘Surcharge Liabilty Notice for the irst ime.

{b) Which of the following statements is TRUE? Choose ONE answer.

‘The business is due to pay a surcharge for submitting  paper VAT retur when an online retum was due.

The business s due to pay a surcharge because oflate submission of 3 VAT retum

‘The business is in default and will have to pay a surcharge if further defaults follow in the next 12 months.

‘The business wil have to pay a surcharge i any errors are made on VAT retums in the next 12 montns.





Task 1.4
[image: image6.png](a) Which ONE of the following statements is TRUE? Choose ONE answer.

Output tax should not be charged on the sale because cars are always exemptfrom VAT

‘Output tax should not be charged on the sale because the private individual s not VAT-registered.

‘Output tax should be charged on the sale because input VAT was reclaimed on the purchase.

(b) Complete the following sentence:

Suppies o goocs o 3 county outsc he U ae known or VAT purposes as





[image: image7.png](c) What will be the final figure for output tax on the VAT return for the quarter ended 31 March 20X1?

¢ [250858






Task 1.5
[image: image8.png](a) Whatis the amount of VAT to be shown on the invoice, correct to TWO decimal places?

£ [z018

Abusiness has completed its VAT return, which correcty shows an amount due to HRC of £14,592.00.
The last quarter's VAT payment of £12,345.00 has been entered into the VAT account on the wrong side.

(b) Whatis the uncorrected balance showing on the VAT account? Choose ONE answer.

An amount payable of £26,937.00

An amount payable of £39,282 00





Section 2
Task 2.1

[image: image9.png](a) Calculate the figure to be reclaimed as bad debt relief on the VAT return.

= [25065

(b) Calculate the figure for Box 1 of the VAT Return - VAT due on sales and other outputs.

= [122810

(©) Calculate the figure for Box 4 of the VAT Return - VAT reclaimed on purchases and other inputs,
including acquisitions from the EC.

& [or07145





Task 2.2
[image: image10.png]Complete boxes 1 to 9 of the VAT Return for the quarter ended 31 August 20X0.

‘any VAT, from other EC Member States
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Task 2.3
[image: image11.png]Draft an email to the financial accountant advising him of the amount of VAT that will be paid or received
and the date due.

To [Financial Accountant v

From: [Accounting Technician g

Date: 16 May 20X0 v

Subject  Completed VAT Return

Please be advised that | have just completed the VAT Return for the quarter ended [30 April 20X0.

The amountorvaT [payane [l winee £ [gaaan

[Flosse arange o pay s ectomcl o o o erthan June 2050 a

Kind regards,
A Technician





�Rounding – Boxes 6-9





This model answer shows the figures in boxes 6-9 rounded up, however figures rounded down are equally valid for the purposes of this assessment.
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